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(1) cos15° =cos 60° —| 45°
= c0s60° cos| 45° |+sin60°sin| 45° |= @
1+ cos| 30°
2+ /3
2 2 15° = =
(2) cos= 15 > 7
pP——
cos15° >0 cos15° = 2+\/§
(3) sin(9 + 30°) = % (0° = 9 < 360°)
z=0+30° 30° | = 2 <|390° sinm:%.
x =| 45°, 135° 0 =] 15°, 105°
1
%) cosf < - (0° = 0 < 360°) 60° < 6 < 300°
5) a8 tana =2, tang =3 tan(a+p8)=| -1
0° |<a+ [ <|180° o+ (3 =|135°
@
() y =sin20 180°
Yy
5 : : .
(2)y=tang 180°
0 =90° +180° x n (n )
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—2Zzxz =0 —2=xz=0
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0 1 2 0 1 2
3 y= Asin(BO —C)+ D

[ ] a=_}p=

L] B=[ | c=[] A, B, C

5 2 5 2 10

3 -1 1 2
1 180° 2 30°
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@O‘vﬁ sma:%, cosﬁ:7
sin(a + )
_ - s
0° < a < 90° cos —pl—sin2 = l—i——
“ “= “= 2% 5"
— /3
0° < B <90° sinﬂzpl—coszﬂz 1—%:—3
sin(a + B) = sina.cos 3 + cos asin 8
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y=2x,y=%x x
¢ ) .
9=91—91,tan61:2,tan02=?.
tan6; —tané 2_%
tand = tan(0; — 6,) 1+ tan 6, tan 6, 1_'_1
3
0° = 9 = 90° 0 = 45°.
[6]0° = 6 < 360°
(1) sin20 = /3siné
2sinfcosd = +/3sind

sinf(2cosf —v3) = 0

-.sin@=0 cosezg.
0° = 0 < 360° 0 = 0°,180°, 30°, 330°.

(2) VZsin(20 — 60°) > 1

20— 60° = X

. 7

sin X > 4 (—60° = X < 660°)
C )

45° < X < 135°, 405° < X < 495°.
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6 = 90°
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[7]0° = 6 < 360° y = 08260 + 2sinf + 1
0
K 1 h|P 5
—_ . 2 - _ — .
y=1-2sin“g+2sinf+1=-... =2 S|m9—7 +7
> sina—i
2 S22
-2 (sing = -1)
0° = 6 < 360°
sing = —1 6 = 270°.
sing = - 6 = 30°, 150°.
% (6 = 30°, 150°), —2 (9 = 270°)
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sin2x +cosy =1

0° ,y < 360°
siny+cos2zx =1 =y )

sin? 2z + 2sinz cosy + cos?y = 1
sin?y + 2sinycos 2z + cos? 2z = 1

2(sin 2z cosy + siny cos 2z) = 0.
2z +y =360° x n

sin(z +y) =0.
180° + 360° x n (n

2z +y = 360°
sin(—y) + cosy = 1, siny + cos(—y) = 1.
siny =0, cosy =1 0° = y < 360° y =0°.
sin2z =0, cos2x = 1. 0° = 2x < 720° T =

180°.
2 +y = 180° + 360°
sin(—y + 180°) + cosy = 1, siny + cos(—y + 180°) = 1.
siny +cosy =1, siny —cosy = 1.
siny =1, cosy = 0. 0° = y < 360°
sin2z =1, cos2x = 0. 0° = 2z < 720°

y = 90°.

225°,
(z,y) = (0°,0°), (180°,0°), (45°,90°), (225°,90°).
(1 —sin22)?+ (1 —cos2z)?> =1 sindx =0

x = 45°,




